(Teacher’s Manual)

CLASS-4
Revision

1. Write the following numbers in

words :

(a) Eighty six thousand four
hundred thirteen (b) Twenty three
thousand three hundred seventy
five (c¢) Sixty two thousand four
hundred fifty six (d) Thirty nine
thousand one hundred eighty one
(e) Ninety four thousand three
hundred fifty nine (f) Fourteen
thousand seven hundred eighteen

. Answer the following questions

according to the given pictures :
(a) The cost of television is =T 8524
The cost of fridgeis =3 9528
Difference between them = 9528 —
8524=31004

(b) The costof fanis =3 1324

The cost of tableis =3 3178

Total cost =1324+3178 =3 4502
(c) The cost of mobile =% 3250
The cost of swing machine = 31486
Difference between them = 3250—
1486 =3 1764

The cost of mobile is greater.

(d) The cost of bed is =3 5640

The cost of tableis =3 3178
Difference between them = 5640 —
3178 =3 2462

The cost of bed is greater.

(e) The cost of swing machine is =
31486

The cost of fanis =3 1324
Difference between them = 1486 —
1324=%162

the cost of swing machine is greater.

(f) The cost of fridge is =3 9528
The costof fanis =3 1324
Difference between them = 9528 —
1324 =3 8204

. Fill in the blanks in the given

table:

(a) Eight thousand forty seven
(b) 6523 (c) Five thousand two
(d)9254

. Write the following numbers in

the expended form :

(a)60000 + 1000+ 900+ 80+ 6
(b)40000 +2000+90 +6

(c) 20000 + 800+ 80

(d) 30000+1000+200+90+6

. Write the following numbers in

short form :
(a) 5875 (b)6796 (c)24632
(d) 300207 (e) 10720 (f)605031

. Write the following numbers in

ascending order:

(a) 5, 56, 260, 3523 (b) 7, 77, 777,
7077(c) 188,909, 2150,4120
(d)6,97,480, 1999, 4876

()99, 909, 9009, 9109, 9999

. Write the following numbers in

descending order:

(a) 1676, 1660, 1612, 1602

(b) 8900, 5612, 5608,4003, 315
() 9900, 9099, 9000, 999, 99
(d)2220,1888,909,12, 8

. Find the numbers with the help

of abacus stand :

(a) Five thousand three hundred
forty two or 5342 (b) Four
thousand five hundred forty six or
4546
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10.

11.

12.

13.

14.

15.

Use =, >, <in the blanks to make
the following sentences correct :
(a)3000>999 (b)4305>3504
(€)5911=5911 (d)9999 < 10000
(e)6255>625 (f)8023 <8025
The place value of 61s 60.

(b) The place value of 4 1s 4000.

(c) The place value of 4 is 40000.
(d) The place value of 31is 3.

(e) The place value of 2 is 200000.
(f) The place value of 21s 20000.
Fill in the blanks :

(a) 3978 (b) 4580 (c) 1000 (d) 1000
(e) The place value of first 7 is =
7000

The place value of second 71is =70
Difference = 7000-70 = 6930

(f) The valueis = 3079

Solve the following questions :
(a) 9800 — 5997 = 3803 (b) 6378 —
5339 = 1039 (c) 8649 — 5398 =
3251(d)9843-4376 = 5467
(e)9605-3515=6090

Add:

(a) 2415 + 3592 = 6007 (b) 3516 +
2189 + 3932 = 9637 (c) 4478 +
2609 + 1871 = 8958 (d) 3251 +
2518 + 2054 = 7823 (e) 545 + 290
+955=1790 (f) 965 + 316 + 95 =
1376

Solve the following questions :
(a) 5236 + 1256 — 3251 = 6492 —
3251=3241

(b) 4258 — 1325 + 90 = 2933 + 90
=3023

(c) 4325 +226-35=4551-35=
4516

(d) 3250 — 1567 + 456 = 1683 +
456=2139

The monthly income of Reesha’s
fatheris = ¥5840

The monthly income of her
motheris = I 3425

16.

17.

18.

19.

Reesha’s grandmother earns from
home industry = ¥ 325

Total income of Reesha’s family =
5840+ 3425+ 325= %9590
Hazelhas = 39544

She bought D.V.D player of = ¥
3256

Now, she has = 9544 — 3256 =%
6288

Total population of a village = 5231
Men in the village = 2024

Women in the village = 1938

Total population of men and
women are = 2024 + 1938 = 3962
Population of children in village
are =5231-3962=1269
Mansihad = ¥3524

She got salary = ¥5952

Now, she has money = 3524 +
5952=%9476

She bought grocery item of = ¥
2238

She has remaining money = 9476
—2238=%7238
Multiply :

©]0)

@ 412 O 58 4
x 1 3 X1 6
1236 350 4
41 2 X 58 4 x
5356 93 4 4
© %)%)2 (G)) %)%)2
x 1 8 x 1 8
2736 2256
342 x 282 x
6156 507 6
(e) 611)%)6 ® 713
X 15 x 1 2
980 1426
19 6 x 713 x
2940 855 6
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20. Write the shaded portion and

white portion in fractions :

(@)1/3(b)1/4(c)2/5
21. Divide :
@ gY72(9 (®) 10)170(17
72 10
< 70
- 70
X
(©) 15)105(7 (d)2)2246(1123
105 2
X 2
2
4
_4v_
6
6
=
©3 53396( 1132 (H)4)4848(1212
3 4}
3 3
3v 8v
Bl T 4]
9 4
6 8
6 8
X X
22. Fill ix; the blznks :
(a)l—7+v
_5+4 _ 9
17 17
9 13
(b)T‘i'T
9+ 13 2
T 71122
7 6 5
O3+t 1

23.

24.

7+6+5 _ 18 5
813 3 13 ~ 13
D45 -5
_8-3_ . § _ 1
T 15 T 15 " 3
200 8
© T -17

_200-8_192_,, 5
17 T 17 17

33 22
® 57~ 37
_33-22 11
T 87 87
Change the following :
(@)2m75cm

We know I m =100 cm = 2 m X
100=200cm =200cm + 75 ¢, =
275cm

(b) 5km 650 m

We know 1 km = 1000 m = 5 km
x 1000 = 5000 m = 5000 m + 650
m=5650m

(c)41655ml

We know 1 /= 1000 m/ = 41 x
1000 = 4000 m = 4000 m! + 655
ml=4655ml

(d)4kg350gm

We know 1k gm =1000 gm =4 X
1000 =4000 gm = 4000 gm + 350
gm=4350gm

(e)6582ml

We know 1 m/=0.001/= 6582 X
0.001 = 6.5821

(£)6290 gm

1 gram =0.001 = 6290 x 0.001 =
6.29kg

Add the following measurement :

(@) (b)

m cm m Cm
360 55 90

+4 75 + 45 60
© 535 @ Tor 50
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25.

26.

27.

28.

29.
32.

m cm m cm
455 75 272 90
+ 45 89 + 197 05
(e 201 64 (n 469 95
m cm m cm
143 40 153 50
+ 93 50 + 94 95
236 90 248 45
Subtract the following measure-
ment :
(@) m cm (b) m cm
72 27 55 90
- 29 28 - 45 60
42 99 10 30
©) m cm (@ m cm
88 79 98 65
- 56 88 - 59 87
31 91 38 78
(® m cm m cm
143 40 6056 00
- 93 50 - 2157 15
49 90 3898 85
Match the following :

(a)ii(b)iii(c)i(d)v(e)iv

Write the time after seeing the
pictures :

(a)3:00 (b)10:30
(©)5:15 (d) 7:45

‘Write a.m. or p.m. in boxes :
(a)7:15a.m.(b)8:45p.m.
Aleapyearhas 366 days.
Change into dozen :

(a) 2 gross 5 dozen

1 gross =12 dozen

2 gross = 12x2=24 dozen

24 dozen + 5 dozen = 29 dozen
(b) 1 gross 1 dozen

1 gross =12 dozen

12 dozen + 1 dozen = 13 dozen
(c)6 gross 1 dozen

1 gross =12 dozen

33.

6 gross =6x12 =72 dozen
72 dozen + 1 dozen = 73 dozen
Do yourself

Number System
Exercise- 2.1

. Write the next five numbers for

each of the following :
(a) 63912 = 63913, 63914, 63915,
63916, 63917

(b) 120935 = 120936, 120937,
120938, 120939, 120940
(c) 354937 = 354938, 354939,

354940, 354941, 354942
(d) 99091 = 99092, 99093, 99094,
99095, 99096

(e) 433451 = 433452, 433453,
433454, 433455, 433456
() 519831 = 519832, 519833,

519834,519835,519836

Observe the pattern carefully and
write next three numbers :
(a)43459, 43460, 43461
(b)234583,234581,234579

(c) 134869, 134969, 135069
(d)15347,16347,17347

Arrange the following numbers
in ascending orders :

(a) 131457, 131458, 131459,
131460 (b) 43457, 43458, 43459,
43460, 43461 (c) 562233, 562234,
562235, 562236, (d) 234570,
234571, 234572, 234573, 234574,
234575

Write the place values of the
encircled digits :

()3000 (b)9 (c)80
(d)60000 (e)8000 (f) 700
Counting by 5’s write the
numbers between :

(a) 334128, 334133, 334138,
334143 (b) 74768, 74773, 74778,
74783 (c) 43715, 43720, 43725 (d)
558770, 558775,558780, 558785
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6.

10.

11.

12.

Counting by 10’s write the
numbers between :
(a) 54330, 54340, 54350 (b) 78931,
78941, 78951 (c) 735444, 735454,
735464 (d)44402,44412,44422
Counting by 100’s write the
numbers between :
(a) 35500, 35600, 35700, 35800 (b)
625805, 625905, 626005, 626105
(c)21454,21554,21654,21754
(d)58476,58576,58676,58776
Counting by 1000’s write the
numbers between :
(a) 33544, 34544, 35544,
(b) 79366, 80366, 81366
(b)516876,517876,518876
(d) 36896, 37896, 38896
Smallest number of five digit
10000
Greatest number of five digit
99999
Smallest number of six digits
100000
Greatest number of six digits
999999

Exercise - 2.2

. Write the place value of the digits

encircled in each number :

(@2  (b)30000  (c)30000
(@3  (e)3000 (H)700
Write the face value of the digits
encircled in each number :
(@)2(®)7(c)8(d)2(e)9(H9
Arrange the following numbers
in Indian place value chart :

()
Ten Th Th [Hundred| Ten One
5 8 0 0 9
= 58009
(b
Lac |TenTh Eggg Hr‘égd Ten | One
6 5 8 3 4 5

600000( 50000 [ 8000 | 300 40 5

= 658345

(©)
Ten Th Th |Hundred| Ten One
5 5 3 9 2
50000 | 5000 | 300 90 2
=55392
(d)
Ten Th Th |Hundred| Ten One
8 1 5 6 8
80000 | 1000 | 500 60 8
= 81568
. How many digits are there in
each of the following :
(a) 5 digit (b) 6 digit
(c) 6 digit (d) 6 digit

. Write the following numbers in

expanded form :

(a) 50000+ 8000 + 900 + 60 +3

(b) 700000 + 70000 + 9000 + 200
+ 80 + 3 (c) 50000 + 8000 + 700 +
60 + 3 (d) 300000 + 40000 + 3000
+200 + 50 + 1 (e) 100000 + 20000
+5000 +400+90 + 3 (f) 20000 +
8000+700+30+9

. Write the following numbers in

short form:
(a) 56093
(c)83578

(b) 6987
(d) 35901

. Mark the periods of each of the

following numbers :
(a)5,79,832(b) 2,59,632(c) 58,763

. Which is the expanded form of

78912:
=70000+8000+900+10+2
(b)istrue

Exercise - 2.3

. Fillin the blanks with <, >or=:

(a) 21593 > 15879 (b) 7893 < 15193
(c)5870=5872
(d)3152=2x1576(3152)

. Arrange the following numbers

in the place value chart and
ascending order:
(a) 780, 1529, 1983, 2222, 3001

EE—



12.

13.

14.

15.

(b)572,3354, 35231, 89760, 98705
(©)7,77,777,7777,77777
Arrange the following numbers
in place value chart and
descending order:

(a)4319, 3421,2001, 1000

(b) 11000, 9582, 5807, 3543, 1529
(c) 576340, 8000, 4263, 1546, 325
Successor (+1)

(a) 89671 (b) 8707 (c) 8100 (d) 7701
(e) 9782 (£) 271 (g) 8830 (h) 9877
Predecessor (-1)

(a) 7701 (b) 5875 (c)43011(d) 2104
(e) 549 () 590 (g) 9089 (h) 159826
Find the greatest numbers in each
of the following sets of numbers :
(a)289900 (b) 510510

Greatest 3 digit number

=999+ 1=1000

Greatest 3 digit number
=999-1=998

. 100000—-1=99999
10.
11.

51823,53812,35812,85123

Ascending order

35812,51823,53812,85123

Descending order

85123,53812,51823,35812

Find the smallest number in each

of the following :

(a) 1879 (b) 500(c) 2535

Write ‘T’ for true and ‘F’ for

false statements :

(a) True (b) False (c) True (d) False

(e) True (f) False (g) False

‘Write the number of digits in the

following numbers :

(@)7(®)6(c)6(d)5

‘Write the successor and predec-

essor of the following numbers :

(a) Predecessor 28645 —1 = 28644
Successor 28645+ 1 =28646

(b) Predecessor 4286 —1=4285
Successor 4286 +1=4287

16.

- @

(c) Predecessor 2964—1=2963
Successor 2964 + 1=2965
(d) Predecessor 486798-1 =486797

Successor 486798 + 1 =486799
(e) Predecessor 99999 —1 =99998
Successor 99999 + 1 = 100000
(f) Predecessor 10000—1=9999
Successor 10000+ 1 =10001
Write the place value of the
underlined digits :
(a)80(b) 700 (c) 4 (d) 60 (e) 500
Addition of Numbers
Exercise - 3.1

TTh Th H
5 7
4 2
9

+

\O

(b)

=

©

=

=

(d

(e)

®

=

€3)

=

T
2
3
5
T
5
4
9
T
8
2
1
T
7
3
1
T
3
7
1
T
1
3
4
T
2
9
2
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® L TTh Th H T O 8. lIstyearstudents = 253972
7 8 5 3 92 2ndyearstudents = 752836
+ 8 6 7 8 29 3rdyearstudents =+ 35628
16 5 3 2 21 Totalstudents = 1042436
(g) L TTh Th H T O 9. Amilkdairysold = 58760
5 8 7 6 2 Consequent week = 63958
3 95 Consequentweek= + 21000
+ 2 3 5 4 8 6 Totallitresmilk =__ 143718
2 9 4 6 43 10.Costof TV = 221000
Costof Scooter = + ¥35750
() L TTh Th H T O Total Amount = 356750
78 > 9 g g 11. Numbersof men = 57839
N 9 8 6 Num.oqumen = 76354
) 5 9 7 2 Num. of children = + 2060

Total population = 7 36253

Exercise - 3.3 12. A jeweller
759523 sold gold ornament= ¥78760 0

1. Population of ci
oprarono v +586293 sold silver ornament=+ ¥358 7 6

P. of other city

Both city sum 1345816 Total sales = 7823476
2. Janeboughtaplot= 735600 13- Populationof

Constructioncost=+3 285750 Firsttown = 135000

Total Amount = 32321350 Second town =+ 456390
3. Firstdeposited = %95723 lotalpopulation = 591390

Second deposited =+ Z 800000 14. Production of bulbs
3057913 395600

Total = 895723 Firstday =

4. OldmoviesCDs = 26000 Secondday = +_78635
New movies CDs = 58769 Total production = 474235
Eng. moviesCDs = + 660000 15. Publisher sold copies of book
Total CDs = 744769 In2001 = 6523

5. In200lheearned= 65821 In 2002 = 8708
2002heearned =+ 75938  n2003 = + 9872
2003heearned = _ %35897 Total = _ 25103
Total Amount = 3177656 16.(a)Thirdcandidate votes

6. Production of bicycle = 200931 votes

InOctober = 700000 (b) Fourth candidate T i votes
In November = 85900 . _
_ (c) Maximum number
Pro I:fl\ffr:g}riths ; % = Fourth candidate
‘ — (d) Total votes in election
7. Ingodown = 863625 votes
Sugarbags = 78500 (e) Candidate least votes got
Wheatbags =196566 = First candidate
Total bags = 175066



17. (a) Amount of (e) TTh Th H T O
Colour .V = R12126 5 9 4 3 2
Refrigerator = +316960 — 4 3 2 4 5
Total = 29086 1 6 1 8 7

(b) Amount of
Microwave = %8562 ® TTh Th H T O
Refrigerator = +%16960 7 6 3 45
Total = 325522 - _4 7 4 5 17
(c) Amount of 2 8 8 8 8
ColorT.V = R12126
Microwave = +38562 © Ig T;Fh T3h 13{ I ?
Total = 20688 _ 3 6 4 3 5 3
(d) Amount of > 8 3 0 3 9
ColorT.V = 12126
Refrigerator = 216960 (h) L TTh Th H T O
Microwave =+ 38562 5 8 7 0 509
Total = 337648 - 4 4 8 1 2 6
(e) Shehad = 350000 1 3 8 9 33
Spent = -%37648 :
Shehas = 312352 ® ph T BT
MCQs 1. (b)2.(c)3. (a)4.(d) 5. (c) _ 2 9 8 8 3 8
Subtraction of Numbers 3 7 6 9 9 9
Exercise - 4.1 .
1. Subtract: ) L TTh Th H T O
@ TTh Th HT O ;76 g’;gg
5 3 2 78 -
0 9 0 1 09
- 2 4 3 29
2 8 9 4 9 k) L TTh Th H T O
9 7 5 8 37
(b) TTh Th H T O - 2 9 8 8 3 8
8 0 9 96 6 7 6 9 909
- 5 1 9 2 3
2 9 0 7 3 @ L TTh Th H T O
5 6 4 8 33
(© TTh Th H T O ~ 2 7 9 2 26
9 1 2 5 4 2 8 5 6 07
- 1 4 3 2 7 2. Subtract 9,025 from each of the
76 9 27 following :
d TTh Th HT O (a)_zgggg (b_)783(3)g§
4 2 9 34 20009 776367
- 2 4 8 7 5
1T 8 0 5 9 (© 375287 (d) 300958
— 9025 — 9025
366262 291933
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(e) 10000 ® 58763
- 9025 - 9025
975 49738

. Subtract 8,752 from each of the
following :

@ 10000 ® 9000
- 8752 - 8752
1248 248
(© 100000 (@ 80000
- 8752 - 8752
91248 71248
(e 700000 (® 15000
- 8752 - 8752
6912438 62438
. Minuend:
(@) TTh Th H T O
[0]
+ 1 6 5 3 2
6 4 3 5 2
() TTh Th H T O
(7] [0][9]
+ 7 3 4 5 6
3 1 2 53
© TTh Th H T O
+ 3 3 3 3 3
2 2 2 2 2
. Find the subtrahend in the
following sums :
@ L TTh Th H T O
5 8 6 900
- (6] [5][7]
3 6 5 2 43
®) L TTh Th H T O
6 3 8 790
- (4] [0][7]
1 5 4 3 83

. Find the difference of the

following :

(@) L TTh Th H T O
6 8 4 3 53
- 2 3 5 8 6 4
4 4 8 4 8 9
(b)) L TTh Th H T O
3 38 6 5 93
- 2 6 7 5 9 4
1 1 8 9 99
Exercise - 4.2
1. Costof car = 3215000
Cost of m.cycle = — 50000
Both difference = 165000
2. Alanhas = 800000
Buysaplot =-%762000
He hasnow = 338000
3. Smallest6digitno.= 100000
Greatest 5 digitno.= — 99999
Difference = 000001
4. Johnnysoldhouse= ¥4 26343
Johnnyboughtit=—_ 39556
He got more = 386787
5. 526389
- 156580
369809 should be added
6. The population of village
In 2003 = 132586
The population of
village in 1999 = - 78392
Increaseinpopulation = 54194
7. Population of town=
Females are = 187639
Malesare =—- 50587
8. Lengthofwire = __137052
cut off wire = 85354m
remaining wire = — 700m
9. 100000 84654 m
- 38769
61231 should be added
10. 835439
—_— - g (5)2 (3), 8 should be
———————  subtracted



11.

12.

13.

14.

15.

Shopkeeperhad
sugarinstock = 85000kg

Hesoldsugar = — 50354kg
Sugarleftinstock= _ 34646 kg

Isttypecomputer = 75836
2ndtypecomputer = 40000
3rdtypecomputer = + 5 8362
Totalcomputer = 174198

Total computerinshop= 174198

Sold computer =— 78354
Computerleftinshop =~ 95844
Sum 100354 85630
+60000 - 7000
16 0354 78630
Difference = 160354
78630
81724
Ahmad deposited = 100000
Withdraw = 355600
Balance = 344400
(a) ThesaleonMonday=% 3 8 56 8

The sale on Tuesday =-331230
Total = 369798
(b) The sale on Tuesday=X 31230
The sale on Wednesday =-34293 0
Total =3%74153
(c) Thesaleon Wed.= 34292 3
The sale on Monday=—33 856 8

Total = 814091
(d)SaleonMonday <3856 8
SaleonTuesday =-%31230
Difference = 7338
(e) Saleon Tuesday= %4292 3

Sale on Wednesday=-33123 0

Difference = 311693
(f) Hehas money 338568
total = 331230
+342923

112721

3112721
Heboughtgoods=— 622 6 5
Heleft I50456

. ()78x100

MCQs: 1. (b) 2. (¢) 3. (2)4. (d) 5. (b)

Multiplication of Numbers
Exercise - 5.1

=78 x 1 hundred

=7800

(b)371x 100 =371 x 1 hundred
=371 hundred
=37100

(c)370x 100 =370x 1hundred
=370 hundred
=3700

(d)198 x200 =198 X 2 hundred
=396 hundred
=39600

(e)300x 375 =375x% 3hundred
=1125hundred
=112500

(f) 627x 100 =627 X 1 hundred
=62700

(g)75x100 =75x1hundred
=75hundred
=7500

(h) 156 x 2000=156 X 2 thousand
=312 thousand
=312000

(1) 575 % 3000=1575 x 3 thousand

= 1725 thousand

=1725000

=178 x 4 hundred

=712 hundred

=71200

() 178 x 400

. (a)88x4000 =88x4thousand

=352 thousand
=352000
=9 x 4thousand
=36 thousand
=36000
(c) 186 x 4000 = 186 X 4 thousand
=744 thousand
= 744000
(d)44 x 4000 =44 x 4thousand
=176thousand =176000

(b) 9 x 4000
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(e) 777 x 4000 = 777 X 4 thousand

=3108 thousand =3108000

(f)273 x 4000 =273 X 4thousand
=1092 thousand =1092000

3. Fillinthe blanks :

(2)37 x 100 =[3700

(b)76] x 1000 = 76000

(€)975 x 200 =[195000]

(d)367 x = 7340

4. Findtheproduct:

@ 246 O 778
X 2 7 X 55
1722 3890
4 9 2 X 389 0 x
6 6 4 2 427 90

© 677 @ 816
X 56 X 5 8
4 0 6 2 6 5 28

338 5 x 40 8 0 x

37912 47 3 28

© 676 O 2176
X 4 7 x 3 00
4 7 3 2 0 00O

27 0 4 x 00 0 0 x

31772 652 8 X x

6 52 800

® 798 M 347
X 8 7 X 95
5586 17 35

6 3 8 4 x 312 3 x

69426 329635

»h 872
X 6 5 4
3 4 8 8

43 6 0 x

523 2 xx (G 3728

570 2 8 8 X 2 8 7

2 6 09 6
29 8 2 4 x
74 5 6 X X
106 9 9 3 6

(9] 371 8
X 2 89
3 346 2
29 7 44 x
74 3 6 X X
107 450 2
(D 5x7x6x89 210
35%x6x89 x 8 9
210x 89 1890
1 6 80X
186 90
(m)575x3%x100= 1725 x 100 =
172500
(n)3 %746 %270 2 2 3 8
= 2238270 x 2 70
0 000
156 6 6 X
447 6 x X
604 2 60
5. Find the product when the
multiplicands and the multiplier
are as follows :

S. No.|Multiplicands| Multipliers [ Products
(a) 375 240 90000
(b) 586 780 457080
(o) 3,940 29 114260
(d) 378 321 121338
© 5,138 111 570318
® 3,746 536 2007856
(2) 3,758 23 86434

Exercise - 5.2

1. Monthly feeof astudent=% 2 0 0
Fee of 24 months = x 24
8§ 00
4 00X
4800
2. Weight of box containing
mangoes = 0.2 7 5kg
Total such boxes = 2 7 8kg

82200

171925 X

20550 x X
Weightof 278boxes 2 8 5 6.4 5 O kg




10.

11.

12.

13.

Abox contains =
Total boxes =

()9 \)

Total Apples 9 4 8
A weaving machine make

inday = 3 3 4.7 5mcloth
Oneyear= x3 6 5
167375
2008 50x
1004 2 5 xx
122183.75

Clothinoneyear=122183.75m

An almirah can held =437 books
370 almirah can held =437 x 370
Total books =161690

Price of anotebooks =3 50

Price of 587books =50x%587

Total price =329350

Shopkeeper sells cloth

inaday =298.70m

Feb. 2004 (29 days) =298.70 x 29
=8662.30

Abagcontain wheat =40.370kg
225bagcontain =40.370 X 225
=9083.250kg
In oneround abus carry
=48 passengers
In 270 round abus carry
=48 x 270 passengers
=12960 passengers
A watercoolercost =3 3817
39 such water cooler cost
=3817 % 39=148863
Atin containoil =5029 ml
73 tin contain oil =5029 x 73 ml
=367117ml
=367.117litre
Rowsingarden =72
A row contains =357
Total plant =72 % 357 =25704

A scootercost =%30200
19scootercost =%330200x% 19
=3573800

. A cow costis =36000
69 cows costare =3 6000 x 69
=414000

Exercise - 5.3

OX5 —4%x3 +2x%6
=45-12+12
=57-12 =45
10x6 —3x7 —-3x%x3

=60-21-9

i~

e

N

®

12.

=60-30 =30
105 - 3x7+13x%x7
=105-21+91
=196-21 =175
11x10 4+ 3x6 —8x15
=110+18-120
=128-120 =8
8x7 - 8x9 + 5x4
=56-72+20
=76-72 =4
159 + 18x5-5x%x4
=135+90-20
=225-20 =205
225 - 4x5-9x5
=225-20-45
=225-65 =160
360 + 5x5-12%x9
=360+25-108
=385-108 =277
500 —4x3 + 145
=500-12+70
=570-12 =558

.25%5 - 40%x5 + 13%x9

=125-200+117
=242-200 =42

. Shopkeepersold fans =120 x 750

Shopkeeper sold radio= 30 X 930

Total amount
=120x750+30x%930
=90000+27900=117900

Number of student =532

Youngboys =310

Younggirls — %: 155

Children =532-310-155

sss—— ——



=532-465
Children =67

MCQs: 1. (c) 2. (b) 3. (d) 4. (c) 5.

(b)6.(a)

Division of Numbers

Exercise — 6.1

- (@) 56)6783(121
56|,
118]
1124
T 63

6 Quotient=121

—— Remainder=7
(b) 23)2852(124
23]
55
46y
7
LOZ Quotient =124
—— Remainder=0
(© 77)9185(119
77
148
71y
T 715

093 Quotient =199

22 Remainder=22

(d) 47)1786(38
141}
376
% Quotient =38
———— Remainder=0
(e) 18)1404(78
126
144
144 Quotient =78
0 Remainder=0

() 36)1575(43
144]
135

% Quotient =43

= Remainder=27

(2)34) 289 (8
ﬂ Quotient=8

_17 Remainder=17

(h)92)8241(89
7364
881
828

_ Quotient =89

i Remainder=153

() 46)3359(73
322
139
138
_— Quotient=73

1— Remainder=1

G) 29)2117(73
2034
87
ﬂ Quotient=73
0 Remainder=0

& 21)966 (46
84}
126

lﬁ Quotient =46

— Remainder=0

O 12)1176( 98
108}
96
9% Quotient =98
_0_ Remainder=0



(m) 46)3778(82
368
98
2 Quotient =82
6 Remainder=6
() 36)2775(77
252}
T255
22 Quotient =77
_3  Remainder=3
(0) 17)1074( 63
1024
T 54

5—1 Quotient =63

—— Remainder=3

®  61)5739(94
549},
249

Zi Quotient=94

—— Remainder=5
2. Find the quotient and remainder
when the dividends and divisors
as follows :

S. No.|Dividend| Divisor |Quotient|Remainder|
(a) 8732 23 379 15
() | 49726 | 56 887 54
(©) 5478 39 140 18
@ | 1869 23 81 6
() | 2547 37 68 31
Exercise - 6.2
L. (@ 78)1315(16
784
535

‘ﬁ Quotient=16
_67 Remainder=67
Check the answer
Dividend = Quotient X Divisor +
Remainder

1315=16 %78+ 67
1315=1248+ 67
1315=1315whichistrue
Answer is correct
(b)62)4142( 66

3724

T422

372 Quotient=66
S0 Remainder =50
Check the answer
Dividend = Quotient X Divisor +
Remainder
4142 =66 x 62 + 50
4142 =4092 + 50
4142 =4142 whichistrue
Answer is correct
(©) 10)9829( 982
90}
82
80y
29
_20 Quotient=982
_9 Remainder=9
Check the answer
Dividend = Quotient X Divisor +
Remainder
9829=982x10+9
9829=9820+9
9829 = 9829 which is true
Answer is correct

(d)20§3434521717

20y
143
140

Quotient=1717
_5 _ Remainder=5
Check the answer
Dividend = Quotient X Divisor +
Remainder

Ees——



34345=1717%x20+5
34345=134340+5

34345 = 34345 which istrue
Answer is correct

Exercise 6.3
1. Shalini wants to buy = 7340 pencils
One packets has =5 pencils
5) 7340 (1468
5y
" 23
_20v
34
30y
40
40 Packet of pencils
0 =1468
2. Totaloranges = 3400
Total boxes =85
Everybox has 85 ) 34002 40
340

.. Everybox has
40 oranges 0
3. 4775 divide among 25 children
25)4775( 191
25|
227
225y
25
25
0
Each child receive ¥ 191
4. A man earnsperyear= 30,000

12)30000(2500

24
60
60
0
0
Monthly

0 income =% 2500

«——

|o o|

5. A factory manufacturesitems
= 7500 per month
30)7500( 250
60},
150 |
150,

I‘

|OO

0 =250itemsperday

6. 8litresoil’scost =3 720

1 litres oil cost =E

10litres oil’s cost = 5 x 10

=90 % 10=900

7. 23toysprice =3460

Ltoysprice =23

oysprice =73 20
20toysprice = % %X 20
=20x%x20=3400

8. 35tablespriceis =% 1,75,000
1 table price s =ﬂ3;”= 5000
= 2700kg
2760
78— 60ke
MCQs : 1. (b) 2. (b) 3. (a) 4. (b) 5.
(@)6.(c)

Simplifications
Exercise - 7.1

9. 45persons weightis

1 person weight is =

1. Simplify:
(a)570-220+10
=570-22 =548
(b)72+48+38
=72+6 =78

(c)4200 + 35+ 5834-250
=120+ 5834-250
=5954-250 =5704

(d)327x25+5+80
=327%x5+80
=1635+80
=1715



(e) 7856020340 + 30080 — 3333
=108640-23673
=84967

() 3587 + 45893 28340
= 4948028340

=21140
Exercise - 7.2
. Simplify:

(a)24x6+3 (b) 48+8-3
=24x2 =6-3
=48 =3

(c)36 x6+2 (d) 81+9+9
=216+2 =9+9
=108 =18

(€)40+4-20%x2+90f4+3+25
=40+4-20%x2+36+3+25
=10-40+12+25
=47-40 =7

H6+8+2-3x2+100f2+4
=6+8+2-3%x2+20+4
=6+4-6+5
=15-6 =9

(g) 1400 + 200 x 300
=7x300 =2100

(h)121+11x11
of 5-6x9+120+40
=121+11x55-6%x9+120+40
=11x55-6%x9+3
=605-54+3
=608-54 =554

(1)400+-1000f2%x3+18-9
=400+-200x3+18-9
=2x3+18-9
=6+18-9
=24-9 =15

()2550f5+5x9+8-3
=1275+-5x9+8-3
=255x9+8-3
=2295+8-3
=2303-3 =2300

Exercise - 7.3

. Population of town = 178952

Population of men= 700000
Population of women are half than

menso = 70,000/2 = 35,00
Total population of men and women
= 700000
+350000
105000

Now, Number of children in town
=178952 —105000 = 73950

. Priceof onetable =%3425

Price of 320tables =425 x 320
=3136000

Price of onechair =3420

Price of 48 chairs =420 %48
=320160

Hence, thecostof 13600 0

320tables and ~ 320160

60

48 chairs = 21561
. Priceof 1 cycle =3900
Priceof 45cycles =900 x 45
=340500

Price of 1 scooter =%25000
Price of 70 scooters= 70 x 25000

=% 1750000
Hence, total cost of
cycleand 1750000
scooters = - 40500

31790500

. Costofabicycle =3845

Costof ascooter =845x19

=3 16055
Cost of motorcycle = 16055 + 2242

=318297
Costof 2bicycle =2x845

=31690
Costof 3scooters =3 X 16055

=348165
Cost of 2 motorcycle =2 X 18297

=336594

Total cost = 86449

. Abank gives ¥ 35 as an interest on =

31000
Atul has rupees in bank =310,5000

He will get interest = 13T50X 105000

; = 3675



Total money he will get = 10,5000
+3675=%10,8675
MCQs: 1. (b) 2. (b) 3. (d)
Multiples and Factors
Exercise - 8.1

1. First four multiples of 4
=4,8,12,16
2. First five multiples of 9
=9,18,27, 36,45
3. Firstthree multiples of 13
=13, 26, 39,
4. Tenthmultipleof 11 =11x10
=110
5. Seventh multiplesof 15 =157
=105
6. Fifthmultipleof 12=12X5
=60
7. Third multipleof 28 =28 %3
=84
8. Smallest (Non zero) multiple of 25
=25
9. Multiple of 6 greatest than 24 but
lessthan 48

=30, 36, 42
10. Smallest multiple of a number is
number itself

Exercise - 8.2
1. Factorof 18 =6,9,3,1,18
2. Factorof 42 =1,3,2,6,7,42
3. Factorof 10 =1,2,5,10
4. Factorof 15 =1,3,5,15
5. Factorof 17 =1,1
6. (a)164 =2x2x4

(b)64 =2X2x2x2x2X2

()75 =3x5x5

(d)264 =2x2x2x3x11
7. Factortree method

=2X2%X2X3X%3

® =5x59

Exercise 8.3

. Allevennumberbetween 9 and 33

10, 12, 14, 16, 18, 20, 22, 24, 26,
28, 30,32

. Write odd number occurring

before and after the following:
(a) 35, 36,37 (b)7,9,11
(c)47,49,51 (d)85, 86,87
(e) 105,106,107 (f) 727,729,731
() 5028, 5029, 5031

(h) 6999, 7000, 7001

(1) 64645, 64646, 64647

() 23455,23456,23457

. Write even numbers occurring

before and after the following :
(a)36,37,38 (b)6,7,8
(c)48,50,52 (d)96,98,100
(e)106, 107,108 (f)318, 320,322
(g)5028, 5030, 5032

(h) 1998, 2000, 2002

(1) 64562, 64564, 64566

(j) 78454, 78456, 78458

. Smallest even number =2
. Greatest 4 digit even number

=9998

. Thesmallest 2 digit odd number

=11

. Greatest 3 digit odd number =999
. Nextthree odd number after 2050

= 2051, 2053, 5055

. Nextthree even number after 2051

= 2052, 2054, 2056



Eali B o M

Exercise - 8.4
Divisible by 2 = 7826, 25286, 1112
Divisible by 3 = 2856, 5631
Divisible by 5 = 2350, 3345
Divisible by 6 = 1566, 5544, 40872
Divisible by 9 = 7884, 60309, 1782
Multiples of 5=50,60), @
Multiples of 8 =@0),@8,69
(a)7=14,21,28 (b)5=10,15,20
(c)16=232,48, 64
MCQs: 1. (a) 2. (b) 3. (c) 4. (d)
H.C.F and L.C.M
Exercise - 9.1

. (04,8

4=2%2
8§=2x%x2x2
HCF=2x2=4
(b)48=2x2%x2x%x2x3
64=2X2X2X2X2X2
HCF=2x2x2x2=16
(©)16=2x%x2x2x%x2
24=2X%X2x%x2x%x3
HCF=2x2x2=8
(d15=3x%5
25=5x%x5 H.CF=5
()36=2x%x2x3x3
108=2x%x2x3x3x%x3
HCF=2x2x3x3=36
H15=3x%x5
35=7x5 H.CF=5
(g)36=2x2x3x%3
81=3x3%x3x3
H.CF=3x3=9
(h)28=2x%x2x7
36=2x2%x3%x3
HCF=2x2=4
19 =3x3
72=3x3%x2x%x2x%x2
18=3%x3x2
H.CF=3x3=9
(G)16=2x2x2x2
24=2x2x2x3
20=2x%x2x5
HCF=2x2=4

(k)56=2x2x%x2x7
72=2%X2X2%X3X%X3
HCF=2x2x2=8§

19 =3x3
72=3x3%x2x2x%x2
HCF=3x3=9

(m)42=2x3x7
112=2%x2X7%x2x%x2
HCF=2x7=14

(n)48=2x%x2x2x2x%X3
60=2x2x5x1x3
HCF=2x2x3=12

(0)14=2x7
56=2x2x%x2x7
HCF=2x7=14

. (2)17,35(c)36,55(f) 25,24

Exercise - 9.2

- @72,90 2072 2190
2136 3[45
218 3[15
31 9 51 5
35 1
1

72=2X2X2x3x3
90=2x%x3%x3x5
HCF=2x3x3=18

We can check by dividing

numbers by the H.C.F

72+18=4

90+18=5

Hence, the answer is correct

(b) 70,60 2170 2|60
5135 2|30
71 7 3|15

70=2x5x7 L 05

60=2x2%X5x%3 1

H.CF=2x5=10

We can check by dividing
numbers by the H.C.F

70=-10=7

60+-10=6

Hence, the answer is correct



(c) 35,70 5(35 2(70
35=5%x7 7 5135
70=5x7x2 717

H.CF=5x7=35 1

We can check by dividing

numbers by the H.C.F

35+35=1

70+35=2

Hence, the answer is correct

(180,60 2|80 2|60

2140 2(30

2120 3115

2110 51 5

5] 5 1
1

80=2%X2%X2%X2X%X5
60=2%x2x5%3
HCF=2x2x5=20
We can check by dividing
numbers by the H.C.F
80+20=4
60+-20=3
Hence, the answer is correct

(€)244,120 2|244 2]120
21122 60
61| 61 2| 30
1 3] 15
244=2x2x61 21 5
120=2%x2x%x2x3x5 1
HCF=2x2=4
We can check by dividing
numbers by the H.C.F
244 -4=61
120-4=30
Hence, the answer is correct
(90,70 2190 2|70
90=2x3x3x5 3|45 5|35
315 7| 7
70=2x5x%x7 51 5 1
H.CF=2x5=10 1

2.

1.

We can check by dividing

numbers by the H.C.F

90+10=9

70-10=7

Hence, the answer is correct

(a) 36,24,48
36=2%x2%x3x%3
24=2x2x2X%X3
48=2%x2x2%X2X%X3
HCF=2x2x3=12

(b)62, 60,80
62=2x31
60=2%X2x3X%X5
80=2%X2%X2x2x5
H.CF=2

(c) 36,55
36=2%x2%x3x%3
55=11x%5
H.CF=1

@ 24,16 (d) 24,38, 12
2128 21 2,46
21,4 21 1,23
21,2 3] 1,1,3
N 11,11




(2)L.CM=2x2x2x2=16 @ 2]15,20
(b)L.CM=2x2x2x3=24 215,10
(© 2112, 16,18 3 155
2| 6,89 5| 5,5
2] 3,49 11
2| 3,29 L.CM=2x2x3x5=60
3| 31,9 @ 2|8, 10,12, 14
3 1,1,3 2] 4,5,6,7
RN 2| 2,5,3,7
LCM=2x2x2x2%x3%x3=144 3 1,5,3,7
(d) 5|25, 75,50 5 1,5,1,7
575,15, 10 71 1,1,1,7
3 1,32 L,1,1,1
2] 11,2 LCM=2x2x2x3%5x7=840
1,11 &) 3]3,4,5
LCM=5x5x3%x2=150 211,4,5
(© 2]12,18,36 21,25 [ cMm
2 6,9, 18 511, 1,5 =3Xx2x2x%5
3] 399 L1 =60
3] 133 O 520,25
11,1 ST 43
LCM=2x2x3%3=236 T 25
® 2]14,21 SOOI
31 7,21 T 11
7 7,7 L.CM=5x2x2x5=100
1,1 (m) 216,48
L.CM=2x3x7=42 2] 8,24
(8 2100, 75 2] 412
2[ 50,75 2] 2,6
5] 25,75 3] 1,3
3| 5,15 1,1
S| 95 LCM=2X2X L CM=2x2x2x2x3=48
1,1 5x3x5=300 M 220,40
(h) 216,20 210,20
21 8,10 21 5,10
2] 45 5] 5,5
21 25 poM=2x2x 11
S LS 9xax5=80 L.CM=2x2x2Xx5=40
1,1

Ese— ———



©) 2
2[2,6
3

LCM=2x%x2x%x3=12
Exercise - 9.4

12, 15,18

6,15,9
3,15,9

)

1
L
1

)

EIEIESIS

)

— | WD
—_ =

LCM=2x2x3%x3%x5=180
Leastnumberis =180

. 9,12,18

9=3x3

12=3%x2x2

18=3%x3x2 H.CF=3

Required greatest numberis 3
2112, 15,18, 36

2| 6,15,9,18

3 3,15,9,9

3

5

1,
1

)~y

53,3
,5, 1,1
1,1,1,1
LCM=2x2x3x3x5=180
Required least numberis = 180
12,18, 24
6,9, 12

3,9,6
3,9,3

1,3,1
1,1,1
LCM=2x2x2x3x3=72Ltr.

’

o] o] ro o] o

. 124=2%x2x31

112=2X2%X2%x2%X7
256=2X2X2X2X2X2X2X2
HCF=2x2=4

. 108=2%x2x3%x3%3

10.

184=2x%x2x%x2x23
164=2x2x41
HCF=2x2=4

_ Product of two numbers
LCM = 04 HCF

=3 T2

12=2x2x3

18=2x3x3

24=2x%x2x3%x2
HCF=2x3=6

Maximum length of each piece is
6m.

15, 20, 30
3,4, 6
3,2,3
31,3
11,1

5% 2 x2x3=60minutes = 1hour
They ring togetherat 10 + 1 = 11am
MCQs:1.(a)2.(c)3.(b)4. (c)
Fractional Numbers
Exercise - 10.1

@2 O ©F @+
@2 0=

k@) o P>
©—
O

@+ B> ©2 @5 €

oo o] o

7 _ 1
O =7

(a) _2_ Numerator
15 Denominator

(b) _3_ Numerator
18 Denominator

—— ——



11 Numerator

13 Denominator
19 Numerator

Ok 28 Denominator

5. @55 © 5B
© =&+

© =

1 1
(d)TT

3 2 7 6
©@5E5 oy
Exercise - 10.2
1. ()3><2 6 3x3_9 3x4_ 12
5% 2 10 5%x3 15 5x4 20
(b)2><2 4 2x3_6 2x4_ 8
Tx2 14 7x3 21 1x4 28
3x2_6 3x3_9 3x4_ 12
©O8x2" 16 8x3 24 8x4 32

26X 2_ 52 26x3_ 78 26 x 4_104
(D30%2 8020 x 3 12040 x 4160

12x2_24 12x3_36 12x4_48
(©70%x3 38 10x3 57 19x4 76

® 13x2 26 13x3_39 13x4 52
17x2 34 17x3 51 17x4 68

2. Fillintheblanks :

3x2 @ 3x3_ 9
@ %7 = b) 553 =
4x3 _ 12 3x9 _
OGx3=3 @ 9x9=%
3x4 12 5x%x5 _
© 557 = ® 75535
12_ 6
3. (a)?__ () 26:E
728 S _ 1
(d)¥‘144 © 35=73
4. ()—(b) () (d)
8 40 _320
5. (a) =I5 150
5 _40_35_ 10
0I5 =122~ 126~ T3

Exercise - 10.3

4 2 42 _ 21

L @5p=75 OZ=7

27 _ 3 5

O3 =% D=7

4 _ 5 35 _ 7

© 75 =78 O 126727
2. (a)6hour5152;&4/:%

(b) 3monthsis =2 _ 1
12 4
of one year (12)

(c)30sec. is39 __1
120 4
of two min. (120)

d) 60 aiseisﬁ:i
(d)60paiseis 75 = —

of a rupees (100)
(€) 400 grams is % - %

of a kilogram (100 paise)

250 grams s 250 =
(D250¢ 1060

|-

of a kilogram

Exercise - 10.4
A1 1
100 7 25

2. Doyourself

3. Likefractions



2 4x3+2 14
O3 F="% =71
5 _2x745_19
© 2 ==—7F—"77
4 _2x5+4_14
@ 25 =577
, A _2x9+44_ 2
€ 25 9~ 9
7 _2x8+7_23
O 25 =757

4
. (@ 75 —— Reciprocal =

33 . _12
(b) S0 Reciprocal = 33

51 100
(©) 100Rec1procal 51
a2 a1
(d) 71 —— Reciprocal = -
7 Reciorocal =
(e) ) Reciprocal = 7
99 121
® 121Rec1procal 99
Exercise - 10.5
2 2 4 3
@ sy
L.C.Mi4, 8,5,4
2(2,4,52
2(1,2,51
511,1,51
1,1,1,1
2x2x2x5=40
2 L 1n_2%x10_20
T—>4OT4—10—4X10—40
2 L e_c_2%5_10
G i STy
4 e_o_ 4%x8 _32
?%4075—8— 5% 8 —40
3 .~ _3x10_30
G A0 4=10=5707 00
10 20 30 32
Ascending order —» 40" 40" 40" 40

| fee oo

2x2x3%5=60
3 a3
=-60+6=10=¢
1 e 1x15
T 60+4=15=7

2 )
?—)60 - 3—20—3
4 . c_+4~_4
T—)6O - 5—12—5

Ascending order — =—

x 10 _30

x 10 60
x15_15
x 15 60
x 20 _40
x 20 60
x 12 _48
x 12 60

15 30 40 48
60" 60 60 60
4
5

1 3 2
4’76 3’

3
© ==
L.CM

3 . 3x18 _54
7—)126.7 18 = TX18 126
2 L 2Xx21_42
B 12676=21= 655116
1 g g lx14_14
?—>126T9—14— Ox14-126
7 . _ o Ix7T _49
ﬁ—>126718—7——18x7—126
Descending order —»>-~2 14 2, @, >4
126126126126
1.2 7 3
9 6 18 7




1 1 3 3 3 9 4 1
2. a g — — — _ =, —
@ T3%15 516188
LCM 2|4 3,6 15 L3252
2][2,3,3,15 6 4 8 4
3(1,3,3 15 LCM 26,484
5| L1 L5 2[3,2,4,2
L 2[3,1,2,1
2x2x3%x5=60 313 L1
1 1x15_15 ,1,1,1
— 560+ 4=15=—2
4 4% 15 60 X2 X3=24
1 oo 1x20_20 1 L, x4 _4
300+ 3=20=5575%0 g 074 ST T
3 fe—1n_3x10_30 3 g _ 3x6 _18
& > 0076=10=570 %0 g HTA=6= T
3 . _3x4_12 5 e_a_ 5%x3 _15
152007 155457557500 g 224 8=3= 53Ty
Ascend1ngorder—>30 20 15 12 £—>24;4—6— 2x6 _12
60" 60 60 60 3 +4=6= 5= o2
3L L3 cendingorder s 18,1512 4
6 3 415 escending order - 52057 57 57
1 3 49
(b)— 352 1
8 51816 S
L.CM 285,18, 16 3 . 5
2] 459,38 3. (@ 5B+ (b)77
2] 2,594 9.9 _9x15 9x17
2] 1,592 @775 “T7x15 15x17
3] 1,591 135 153 9 9
311,531 255255 17973
5[ 15,11 MCQs:1.(a) 22 = L
T T.I11 522
’ e 3 Elnt@rtainm@nt
21X2X2XZX3X3X51_X7§8 90 2.9 23567891012@
= 5 720-8=90=——2"=2" L g2 3
) 8x90 720 3.(d) - [5] >
3 720+ 5= 144 =32 144,432 T
5 - ' 5% 144 720 Addition and Subtraction of
4 4 x40 _160 Fractions
157 720+ 18=40=15540"720 Exercise - 11.1
9 . 9 x 45 _405 11
g 10 16=45 =157 1 5+
Descending order

L.CMof3,7=21 =1*+3_10
21 21

— 432 405 160 90 2
720'720°720'720

E————



Nt

4

._.
e

1 3 11 1
—_— n. L, 1 1
2 4 RIS
L.CMof2,4=4 L.CMof2,9,6=18
_2+3_ 5 _9+2+3 _14 _ 7
4 4 - 18 18 9
3.1 3 7
St % 2. 90+ 70
L.C.Mof5,6=30 L.C.Mof10,10=10
_18+5_23 3+7_10 _
30 30 =0 ~ 10~ !
1 12 1 30 5
e 13. L,30 . 5
2 726 5 12118
L.C.Mof2,26=26 L.C.Mof15,12,18 =180
_13+12_25 :12+450+50
= === 180
26 26
1,4 _ 5 _212 _,38
315 12 180 ~ “45
L.C.Mof 3,15,12=60 4. 2 . 4
_20+16+25 61 39
=0 " %0 L.CMof3,9,=9
11 1 _6+4_10_, 1
R RS 9 9 9
15. 8 3 1
L.CMof3,2,4=12 T+T+T
_4+6+3 _13 L.CMof9,9,9=9
12 12 _8+3+1_ 12
11 9 9
T :%:1%
L.C.Mof5,10=10
2+1_3 16. 10 12
==10 ~10 25 25
- L.C.Mof 25,25 =25
—_ = _10+12 22
6 6 T 25 25
L.CMof6,6=6 s u s
3+2_ 5 17. >+ 2 . 3
=== 27 27 T 27
L.C.Mof27,27,27=27
2, 1,3 54443 _12 _ 4
77 7 Y =27 79
L.CMof7,7,7=7 -
2+41+3 _ 6 4
= 5 == 18. 15 + 5
5 7 B L.CMof15,15=15
E-FE LCMOf18,18—18 _ 744 =£
_5+7_12_2 15 15
718 18 3



19. 2 3 10620 + 2563 + 5665 _ 18848

_+_

16 - 660 7660
L.C.Mof16,4:16 om4 4712 .. 92
_9+12 _21_ .5 =228 2o gg 20
= 1= 330 165 165
6 16 16 5 ¢
20. 5,4 26. 17* 217
66 66 30
L.C.Mof 66,66 = 66 7 + 7
- 56+64 :6_96 L.CMof7,12=84
_ 1444210 354 172 _ 59
21.1%+2% 84 34 84 14
3
_8 .17 =497
77 6 13
L.CMof7,7=7 27. 55+ 657
S 8,157
7 15 ' 24
YR L. By L.C.M of 15,24 =120
2 e st _648+785 _1433 _ 113
L.CMof2,5,6 =30 28.3 2 453
_45+114+125 _284_142 45
- 30 30 15 _14 28
oL 1"
15 L.CMof4,5=20
23. 2, L _ 70+ 112
9 "3 =720
L.CMof9,3=9 _182_91 o 1
:233=% =720 10 710
4 1
29.02 43 L
24,3 12 L 152 5 t37
6 18 "°79 14 13
_ 19 43 47 ===
FIAETRECE 4
L.C.Mof6,18,9=18 L.CMof 5,4 =20
57+ 43 + 94 = 36+65 121 _o L
=2 =720 20 °720
19497 7 30. 3L+ 1L+ 1l
—1—8—7—107
37 37,13 13 L13
25. 161—1+ 3%”; 7 VRNV
177 233103 L.CMof 12,12, 12 = 12
L.C.Mof 11,60, 12 =660 12 12 4 "4

E—— ———



1 2
31 T+3T
_ 1,2
T 6 9
LCMof6,9=18
_3+58 _6l_5 7
18 18 18
5 13 1
32.7 6 +6 +5 16
_41 157 81
6 24716

L.C.M of 6, 24, 16 = 48
_376+314+243

48
933 _311 7
=28 "16 Y16
10
33. 2W+ 3?
62
1_7+1_7
LCMof17,17=17
_44+62 =1—06=6i
17 17 17
5 15
34. ST + 1_8
40,23
7 18
LCMof7,18=126
:720+161:@:6£5
126 126 126
Exercise - 11.2
. 2_2 2. 17 6
17 17 18 18
_9-2_7  _17-6_
T17 17 T 18 T
3. L _ 9 4.9 _ 3
23 23 14 14
15-9.6  _9-3_
23 23 14
13 12 523 20
27 27 29 29
_13-12_ 1 _23-20
27 27 - 29

11.

13.

15. 22

15 5 19 16
28 28 30 30
_15-5_10_5 _19-16_3_
T 25 2814 © 30 30
6 3 qol2 11
41 41 19 19
_6-3 3 _12-11_ 1
41 41 19 19
S 3 12.19_15

9 9 26 26
_5=-3_2 _19-15_4 _2
T 9 T 9 T 26 "2 13
6 5 14.11 _ 7
11 11 10 10
_6-5_1 _11-7_4_2
11 11 T 10 105
23 11 16. 27 _13
25 25 57 57
_23-11_12 _27-13_14

T25 25 57 57

Exercise - 11.3
11
4 5
L.CMof4,5=20
_5-4_1
20 20
7 _3
16 24
L.CMof16,24=18
_21-6_15 _ 5
T 48 48 T 16
A1
6

L.CMof5,6=30
_6-5_1

30 30
52

12 9
L.CMof12,9=36
_15-8_ 7
T 36 36



5. 2 2 L.CMof9,11=99
9 11
22-18_ 4
799 99

6. 23 1 1L.CMof40,8=40
20 8
_23-5_18_ 9

420 40 20

7. %—% L.CMof4,8=8
_6-1_5
_7 ; 11_ °

8. 15 LCMof9,15=45
35-33_2
~T45 45

9. 2 _3 LCMof10,5=10
0 5
9-6 _ 3
710 10

10. .2 2 L.CMofl10,15=30
10 15
_6-4_2 _ 1
=730 30 15

1.8 -6 1.CMof15,20=60
15 20

32-18_14_ 7
760 60 30
12.-L__1L 1.cMof2,4=4
2 4
_2-1_1
T4 14
13..2. 3 LCMof10,5=10
10 5
_9-6 _ 3
T 10 10
14.11 1 1.cMof36,9=36
36 9
11-4_7

6
15. L _ 2 L.CMof16,24=48
16 24
_21-4_17

48 48

sl

.1

16. 14 _1_14 L.CMof18,14=126

18

_98-9_89

T 126 126
Exercise - 11.4

10 15

. 8__ 1_

19 19

_l62 24

19 19
L.CMof19,19=19
_162-24 138 _ . 5

19 19 19
5 2

B

18 9
L.CMof18,9=18
_71 11
18 9
_771-22 55 _, 1
18 18 18
1
)
L.CMof2,2=2
_1L 3
VR
11-3 _ 8
== 4
3 2

. 12=—=-10—=

17 17

L.CMof17,17=17

_207 172

171

_207-172_35 _, L
17 17 17

3 2

. 642

4 5
L.C.Mof4,5=20
_27 22
T4 5
_135-88 47 _

7
20 20 220
L

9

10 _21-20

9 18
LCM=2x3%x3=18

>
O

»
©

==l

—_| —_
—_ W

—
OolHo\



1 2
7. 6— — 3= 13, 10
3 10 3 _3,5
_19 32 5] 1,5
3 10 1,1
_190-96 _94 _47_,2
B 30 30 157 15
LCM=2x3x5=30
1 2
8. 3 6 -1 3
19 5
6 3
_19-10 5 31
6 6 2 2
4 3
9. 5 ) -2 7
_49 11
) 4
19699 _97_,25
36 36 36
3
10. 12 -4 =
12 31
Tl 7
_84-31 _53__4
7 7 7
1 1
11.1—3 12.35—0
11 _d6 _
1 3 -5 0
3-1_2 _l6_,1
3 3 5 5
1 1
13.45=35
5 7
2 2
_9-7_2_
2 _2_1 2,2
14'6ﬁ_1ﬂ 2] 6, 12
_83 35 2] 36
T 12 24 3 3,3
_166-35_131_ 11T
T 24 24 724

LCM=2%x2x2%x3=24

1 3 1 2
15. 57— 3T 16. 27_ ]F
_31 15 _19 13
6 4 =9 11
_62-45 _17  _209-117
12 1 99
_15 _92
=172 =799
Exercise - 11.5
b ebd g
214, 1,2
-8 B T
_11-6_5 1
T8 8
LCM=2%x2x2=8
2. 2 1 .5
3 6 T2 %3’6’li
_8-2+5 _
== 2[ 11,2
C13-2 11 1,11
12 12
LCM=3%x2%x2=12
LA 11 216,28
6 2 8 2514
_13-8-2 2| 41,2
16 o 21,1
_13-10_3 2l =h
T 16 16 L11
LCM=2%x2x2x2=16
.41 1 3[12,3,6
123 6 241,22
_11-4+2 21 211
12 BN
_13-4_9 _3
T2 T127 4
LCM=3%x2%x2=12
5, 2,5 3 213,84
378 4 T34
_16+15-18 B2
24 =
_31-18_13 3]3L1
724 24 11,1




6. L 5 T 214,12, 8 515, 10,15
4 128 1564 £.2 168 9771733
6—10 + 21 ~T133 5 10 1 ST 113
Y 21 L5 _36+69-3 oo
27_10_£ i 173’1 30 EREE]

24 24 L11 _105-32_ 73
LCM=2Xx2x2%x3=24 f;) 30

7. L, 1 3 2(3,2,4 =255 LCM=5%x2x3=30
32 4 o312 .38 0,2 ,7 2[8212
4+6-9 303,1,1 8 3 ‘12 2416
=== 3] 1,1,3

1212 _57+40-62 EER
LCM=2x2x3=12 - 24 y 4y
2 1.5

. J A S I _97-62 _35 11
3612 13’16’21421 22 24 - lox
- 8245 % o L.CM=2x2x 2x3=24

2150 1 3 1,.,5
1212 _357 ﬁ 3 .37
LCM=3x2x2=12 -8 4 2 16
9. 2-L113 23 o243 114—60—24 + 37 _151 -84
S 2 4 8 =15 16 16
5 7 10 21,2, 4
- +t—T-= 7] 67 3
2 4 8 2|52 =2 =4 2108,4,2,16
_20+14-19 L1 16716 37174718
8 L.CM= 2[21,1,4
_34-19 15 _ 7 2x2x2x2=16 2| 1,1,1,2
8 8 8 11,11
LCM=2x2x2=8
103421 1L 53612 15602 1-3+30
3 6 12 ) 3 6 12 2
_lo,13 19 24 L2419 13 17 79
"3 76 12 2| L,1,2 T3 76 12 24
_40+26-19 11,1 _152-52-34+79
. 12 _231 8624145
12 12 { 21506 1522
1 =651 23,3612
=31 2] 3,3,36
LCM= 3] 3,3,3,3
LCM=3%x2x2=12 2x2 x2x3224 ~ T 11T

s ——



Exercise - 11.6

. . . 1
. A container contains oil =1 Itr

Other container oil = % litre

a1 3 _5+12
Tota1011—4 + T

17
=30 litre

. Abagcontains apples = 10% kg

Abog contains oranges =1 O%kg

Total weight =10% + 10%
52,52

. Abasket contains veg. = 5—kg

H1
25ke
11

Remaining = 5— -2— B
w35

7 12
_480-245 235_ 67

84 84 84

Used vegetables =

kg
. Abasket contains veg. :5+ kg

Used vegetables =2L metre

9
Remaining vegtables :5% - 2%
_36 19
7 9
_324-133
63
_191_,2
63 63
. Length of cloths =10 % metre
Used cloth = 22 metre

5

Leftcloth=10-- — 2-2

4 75
=43 12
45

_215-48

720

_167_o 7
20 °20

. Shopkeeperbought wheat = 10kg

Shopkeeper bought rice =10 %

Shopkeeper bought pulse = 5%

Total grain =10 + 10% + 5%
_10,32,23
T3
_120+ 128 + 69

12

. Ravihadtotal money =100

Hespent = ?10%

Left money = 100— 10%
_100 52
1 5
_500-52 _448
5 5
—
= 389 s

. Suman eats of chocolate = 1 part

4

Leftchocolate= 1 — %

_4-1_3

4 4

. Capacityof atin= 3% litre

Capacity of othertin = 5% litre
32,53
=3 5 +5 7]

EEes— ——



17 | 23
5 7%
_68+115
20
_183_ 43
=50 = 920 litre

10. Shikha bought tomato = 3% kg

Onion = % kg

Green chilli - %kg

1

Total =

kg

Lemon= =1 >
1 1
3
1

1

Total vegetables = 354. +=+ 1_

2
5
7,2 3
=275%377
_105+12+10+45
30
_172 _ 22
=35 530kg
11. A man travelled a distance =

12
50 ) km

Distance travelled by scooter =
1 O%km
Dis. travelled by car=25 i km

Remaining dis= 501—2 (10—+25£D

12 2 3
503—10——252
_462 52 103
T 9 5 4
_ 9240 — 1872 — 4635
h 180

_ 92406507 _2733

180 180

12. Sides of field =

2 2 2 2
lOgm, 73111,3 Fm, 7 s m

Perimeter
1027222, 52
of field —105+73+35+75
5223 17,37
"S5 t3 5 TS
=156+115+51+111

15
433 13
15 22815 .
MCQs:1.(a)= = 43 =2
CQs:1.(a) 75+7 -
2.(a)= — 4 -2
(@) g - g
3.(d)=2_2-2
© 17 ] 373 14
4.2)= U _7 _33-14_19
@=5-1%""3% ~3
5(a)_1_5 1 _75+44 119
5 20 20
Multlphcatlon and Division of
Fraction
Exercise - 12.1
. (a)%x?=2 (b)2x%=1—54
_, 4
=2 5
1 ,_8_4_.1
(C) FXS_F_T_I 3
1 9 4
d _—— =] —
@ 9x5=5=13
N S §
(e) TX7; 3 —23
9 1P27_ 5L
(f)Zl—exw_ 5= 135
5
(g)frxi_g (h) 18 x =25
2 _ 3 2%3 :
ipe 26 _5x13
(1)10><2E—Mxéz 3
_65_,2  °3
_3_213
1_7_1
@ 7x35=26=7
2_2
(b)ngs— 5
3.3 _1
©6x36=% =2

s ———



@ 4xe=5 =7
2.3 _&
(e) ?XT % 1
9
® %x7%=27
S _5 _,1
(g)9x%»2— > =2
3.1 _3_1
M) EX5=5"7
. 3
(1)5x5—3
3
() ZxBZ3 _1
5718, 6 2
4 9
2.2 _22_11_,5
971271276 6
4 10
()4H >

48 10_480_96 _ 41
11725 275 55 55

@) 12 x 22
11_18_ 99 _ .15
ERT T REST:
10,3 _30 5.7 35
©17*7=77 O %5*73 9%
7.8 _7
(®) 167227 24
3.3
() 275
173 _51_ .16
7X5 35135
2,48 .4 3,2
@) 23 %5735 715215
2,1 _2_1
'(a)_ =3 TG
11 _1
0) 5+ 3=5 %7 =15
.93 1 _3
(C)ﬁ‘ "14°F 14

9 ., 84, 1
(d)325.3 X

_ﬂs_zzi_si

25X ¥ 251 25
(e) 5%— ﬁxéb ;?
() %% 8 =1—/8ix% =1_11
() £+2=Fx2 =1

3

R
()ﬁ;? 9(b) 6+f11

0% 19 Hx—=11
@28 @723

1.
© 157232
_1.49_1 24> 2
12 24 12 910
)
(f) 9 L1
_13.68_73,6 438 _219
8 6 8 68 544 272
S.6_5 4_5
©)1577 T48, 6 72
(h)10i+2i

9.,
10"
ﬁ_é 19 126 114

10 12 105 25 125



. 7. .,.2
0 8 g 1%
___@ 71,63 213
8 6 84 68 272
25
k ___
(k) 32 YT
25 22 éxﬁ 49 _4
7749 2577
2 .25
) 44~ 22
0472
_&_Q 306497 42_ o2
7 25 7 255 5 5
=36
()4— 5
44x§ 441145°_55_ 1
9 36 9 369 9 9
102
01075555
107200 _200_
10 * 167 =10
. 4
_32,15_328 15°_
= X=X =8x3=24

Exercise - 12.3

. Totalbooks =36 2
Hindibooks :%x? =12
. Total stucllgnts =57

girls :ﬂX% =19x2=38

. Total students =75

5
Students went to zoo = #5X %
=35

. Atincontain buttir =100kg
Used butter = 180 X%
(a) Used butter=12kg

(b) Leftbutter = 100— 12 = 88 kg

. Productof twonum.=3 %= 1—56

One number = 25

10.

11. (a

Othernum. = _16 —i

5 725
4
=l—§x§_4x5 20

Share of each son =% of property

20 7

49 710

_492

10~ 7

4920 492
49 7
1476

_ _3200
=39 3305

Spend money =100 <=

4920 7
29 10

Saved money =

_ 4920 — 3444
B 49




13.

14.

15.

|H

(b) %x

Il
[on N[
x
| = 0
Il
=18
Il
©
Sle

~~
O

N
N
X

aleo
X
|
I
[\

%
Sl

[<

ds

I}
Lwn\o|oo
X
ql\b\o
I}

wn
S
|
\1|§_ﬂ
1
~
<

o

o
xml»—A\bl
w

=71 - 250

Number of customers =250
5L
700 = 3 5
= .1 161(? Y2 200
=700 = > = X ==
= 200 tickets were sold

= 19% jugs can be filled.

3.3
MCQs: 1. (d) 5-x 4=

3.31_93_,9

Exercise - 13.1
(a) 1 min =60 sec
(b) 3min=60 % 3=180sec
(c) 8 min =8 x 60 sec =480 sec
(d) 1 hr =60 min
(e)2hr=60 % 2 min =120 min

. (a)8hrs

(f)4 hr =4 X 60 min = 240 min
1 hr=60min
=8 x 60 =480 min
(b)4hrs40
=4x60+40=240+40
=280 min

(c) 7hr 20 min
=7x60+20=420+20=440 min
(d) 12hr 12 min
=12x60+12

=720+ 12=732min
(e)15hrs  1hrs=60min

15 x 60 =900 min

(f)1 day =24 hrs

=24 x 60 = 1440 min

. (@) 18 min

=18x60=1080sec
(b) 7min 2 sec
=7%x60+2
=420+2=422sec
(¢)9min 55 sec
=9x60+55
=540+ 55=595sec
(d) 12min 20 sec
=12x60+20
=720+20=740 sec
(e) 15min40sec
=15%x60+40
=900+40=940sec
(H2hr
=2x60=120min
=120%x60=7200sec

. (a)2days=24x2

=48 hrs
(b)4days=4x24
=96 hrs
(c)l week=7x24
=168 hrs
(d)5day Shours
=5%24+5 =120+5=125hrs



(e)12days 10hrs
=12x24+10
=288+ 10=298 hrs
(f) 15 days 15 hours

=15%24+15
=360+15=375

. (a) 240 240 hrs = 10 days

(b) — 350 hrs =14 days 14 hrs
(© ﬁ 11days 11 hrs

(d) 29 450 18 days 18 hrs

(e) — 630 26 days 6 hrs

® % 22 days 22 hrs

. () % =2hrs 6 min

(b) 250 minutes =4 hrs 10 min
(c) 320 minutes = 5 hrs 20 min
(d) 450 minutes = 7 hrs 30 min
. (@)75sec=1min15sec

(b) 120 sec =2 min
(c)225sec=3min45 sec
(d)300sec =5min

(e) 365 sec =6 min 5 sec
(f)450sec =7 min 30sec

. Add:

(@ 30 Sec
70 Sec

+ 18 Sec
118 Sec
=1min58sec

(b) 30 min

35 min

+ 26 min

91 min
=1hrs 31 min

(¢) 10 min
+ 30 min

36 sec
30 sec

40 min

66 sec

=41 min 6sec

(d) 8 hrs
7 hrs
+ 5 hrs

30 min
42 min
20 min

20 hrs

92 min
60 min

21hrs

32 min

(e) 10hrs
15hrs
+ 16 hrs

20 min
20 min
30 min

41 hrs

70 min
60 min

42 hrs

10 min

() 16hrs
22 hrs
+ 30hrs

16 min
25 min
30 min

68 hrs

71 min
60 min

69 hrs

11 min

(8) 18hrs
16 hrs
+ 22 hrs

12 min
35 min
22 min

56 hrs

69 min
60 min

57 hrs

09 min

. Subtract:

(@ 30 min
— 15 min

22 sec
15 sec

15 min

7 sec

(®) 34 hr
— 20 hr

35 min
20 min

14 hr

15 min

(c) 18 hr 45 min 16sec
— 16 hr 40 min 7sec

2 hr

5 min 9sec

—— ———



(d 15 hr 20 min 38sec
— 9 hr 11 min 16sec
6 hr 9 min 22sec

(e) 25 hr 40 min
— 17 hr 24 min

8 hr 16 min

® 18 hr 15 min
— 12 hr 18 min

5 hr 57 min

(8 40 hr 40 min
— 24 hr 24 min

16 hr 16 min

Exercise - 13.2
. Multiply:
(@ min sec
13 16
X 6
78 min 96s€C_ gnsec=1m

=78+ 1min (60 x 1)+ 36sec
=79 min 36 sec

(b) hr min  sec
5 16 15
X 3
15hr 48 min 45sec

(© hr min sec
10 10 20
X 4
40hr 40min 80sec

=40hrs40 min (60 + 20 = 80 sec)

=40hrs41 min 20 sec
(d hr min sec
11 15 25
X 8

88 hr 120 min 200 sec
=88 +2(60 x 2min), 3 x 60+ 20

=90hrs 3 min 20 sec
() min sec

12 25

X 5

60min 125 sec

=60+ 2min (60 % 2)+ 5sec
=62 min 5 sec
® hr min  sec
6 15 12
X 7

42 hr 105 min 84 sec

=42 hrs + (60 + 45 min = 105)
=84(60+24)

=43 hrs45 min (60 + 24) sec
=43 hrs46 min 24 sec

. (@)22min20secby5

5) 22 (4 min
20
2—>  6x20=120

+ 20 s = 140s
5)140(28 sec

104

T 40

40

=4 min 28 sec U
(b) 31 min42 secby 6
6 ) 31 25 min
30
1—> 60 sec
+ 42 sec
6)102(17 sec
64
42
42
=5min17sec z
(c)46 hrs 57 minby 9

9) 46 (5 hr
45
1—

— 60 min
+ 57 min
9)117(13 min

v

27

) 27
=5hrs13min N



(d) 80 hrs 56 min 48 secby 13

13) 80 (6 hr
78
2— 120 min
+ 56 min
13)176 (13 min
134
46
39
~7 —> 7x60 = 420s
+ 48 sec
13)468 (36sec

6 hrs 13 min 36 sec 0
()40 hrs 12 minby 4
4) 40 (10 hr
40
_0—>4)12 (3min
12

=10hrs 3 min E
(f) 26 hrs 9 min 24 secby 7

7Y 26 (3 hr
21,300 min
51 :
+  9min
7)309(44 min
284

29
28 60 sec
Tj 24
7) 84 (12 sec

T

14

14

0_

=3hr44min 12 sec

Exercise - 13.3

7: 45am 2 8: 30pm

- 6:15 - 3:18
1: 30am 5: 12pm
1: 20pm

~ 2: 15pm he walked 3 hr
3: 35am 35min

7: 15pm
— 4: 30pm
2: 45pm

hr min

1 25
X 7

7 175
=9hrs 55 min

—>60;17522
120
35

. 2hrs 3sec=1hrs=60min

2hrs=2x60=120min
Min 1 x 60 =60
7Y120(17 min 60

7 43
_5% 63
% 7) 63 (9 sec

=17min9sec %

MCQs:1.(d)2.(b)3.(c)4.(c)
5.(d)
Symmetry
Exercise - 18.1
All question do yourself

Geometry
Exercise - 14.1

. (a) Acute angle (b) Obtuse angle

(c) Acute angle (d) Acute angle

- @ A

Obtuse angle

B C




(b) A

Obtuse angle

B C

(C)AL (d / A

B "C B > C
Rightangle  Acuteangle

. (a)6linesegments

(b) 3line segments
(c)4line segments
(d) 16line segments
(e) 6line segments
(f)4line segments
A
[>]

90°

. (@
(b) A
‘\jnoo - L

. (a)Acuteangle (b) nght angle

(c) Acute angle (d) Obtuse angle
Exercise - 14.2

1. Doyourself
. (a)90°Rightangle

(b) 60° Acute angle
(c)45° Acute angle
(d) 150° Obtuse angle
(e) 75° Acute angle
() 45° Acute angle

. (a) ZVQR = 15°(b) ZUQR =45°

(c) ZTQU =30°(d) ZSQR =105°
(e) ZPQR =135°
Exercise - 14.3

. Solve with help of Protractor
. Doyourself

Exercise - 14.4

. Polygon =closedlineb,d, e

. (a)Rectangle, square

(b) Parallelogram

. Parallelogram = A quadrilateral

whose opposite sides are parallel
iscalled a parallelogram.

. (a) Acute angled triangle

(b) Acute angled triangle
(c) Obtuse angled triangle

. Polygon = The figure which are

closed and have more than two
line segments are called polygons.

. (a) True (b) False (c) False (d) True

(e)False
MCQs:1.(c)2.(c)3.(d)4.(a)5.(b)
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